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-Answer the Questions from any one Option.

OPTION-A-
Paper : COM-SEC-3014
( Entrepreneurship)
Full Marks : 50
Time : Two hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer as directed : 1x4=4
Aot s Tew il ¢

(@) Who advocated the concept of
innovation in entrepreneurship ?

e Topiftere oo vy Serm i JfeeH
@I wifesT 2
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(b) . Suggest one measure to remove the
problems of small businesses.

TG TPRPRI TP LT 957 ST
IR |

(c) . Write the full form of DICC.
DICC-3 7=} ®oitht ot |

(d) Mention one component of Business
Plan.

JFI RN 9F Bomia T@ 10|

Write short answer : 2x3=6

53 Tex foralt ¢

~ (a) State two differences between Social
entrepreneur and Business entrepreneur.

AT TN e IR SN e
7o eitew S 9

(b) State two problems confronted by the
small tea growers in Assamn.

memﬁwmmfw
PR R S 1

(c) Mention two contents of a business
plan.

e ARTEmIg 7o Sotmie S 394 |
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- 3.
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Write answers to the following : 5x2=10

were Al RIwrRe e fordl ¢

(a) Write about five essential qualities of
an entrepreneur.

a5 g SO Ah SR QAR
R &

(b) Highlight five contributions of small and
medium scale entrepreneurs in the
development of Indian economy.

OIS ST Rorre Fg wie IS
AR S AT SNICGIR #5o7 SIS
T wife €&l

Write answers to the following : {any three)
10x3=30

wed ReT (F3DIF eoiTe OeF ol ¢ (gt folavi)

(@) What is Rural Entrepreneurship ? What
significant role can the rural
entrepreneurs play in economic
development of our country ? Discuss.

2+8=10

&y s SomTel B SR o AT
SaaH Ay e Sopiliel & & eledd 37w
TR AR 2 DA A |
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(b)

State five characteristics to understand
the nature of small enterprises. Give
five types of small enterprises with their
characteristics. 5+5=10

| AR TRIE A5 4= TR IRPITE R
eIl 9 | o

i
|
i
|
|

What is Business Group? What is
Family Business ? What are the major -
features of family business ?

2+2+6=10

[P (SN A B Be sikaiereits I
2 ARarroie gwim @ TR & e

What is understood by business
incubators ? Write about the features
and functions of business incubators.
2+8=10
AR Sraee IS B 3@ e et
;TNW WA i FRE s RIw
|

What is plant location ? What is plant

lay-out ? Plant lay-out aims to achieve

certain objectives. What are those ?
2+2+6=10
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. efoPne SRES Rt Wi 2 ofs |=imd

N B2 oS FollmoR 7’ g Soly AL
% difR TR T | (O SrpipTR [ /e

What is Resource Mobilisation ?
Categorise the resources needed to start
up a business. 2+8=10
TN ARSI WA & 2 GO J =iwsfag
TR SR TR TR AN o

R redl|
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OPTION-B
Paper : COM-SE-3024
(New Venture Planning )
Full Marks : 50
Time : Two hours
"The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Choose the correct option from the following :
1x4=4

oo ﬁ’nm« R &% RFsicht > Sferea ¢
(a) Which of the following is concerned with |
venture capital ?

m?mmﬁwaﬁwmﬁ |

) New project potential havling
Potential for higher profit |
gjﬁ e FERAl At FgA FASRAYS

(i) New project of high technology
oA AT
(iii) New project having high risk
T Remcp e g 2esl
(iv) All of the above
8RT BRI
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(b) Intellectual Property Rights (IPR) protect
the use of information and ideas that

are of —

e AoifeT SRRAIE O WF LA IS
& 4 T i FI?
(i) social value )
AN LRI
(i) moral value
[ R GG
(i) commercial value
T vy
(iv) ethical value
TfoTTRR ORI

() Which of the following is a reason why
a person might prefer to purchase a
franchise rather than open a completely
new business?

TFR (PUB! PIRC GO ST Bt TR T
TR (A AR TFIF A TANEIR
o F(I?

() Higher failure rate

T SPeILOR 9
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(i) Increased independence 4. Differentiate between invention and

IS FiERe! innovation. 2

(i) Reduced royalty fees TTRA ST T TS A1) (7€l |
R Ao

(iv) Ability to benefit from previous S. Explain the importance of creative people
business in companies. S
IR T <At Rt e ol I «BTs BN Ve w3 FTies I 31|

(d) Venture Capitalist cannot pull out the Or / 53«
. .
p?lrsﬁzny until the company has gone What is an Angel Investor ? Explain it with
one example of angel investor in India.

<0} I SR IR q&H XIS P y 5

T REESR @r1SicR [t ek )

FRIE | RS- RINCAEIPIST M [Fe gby Swizaa

() Yes | oS TRee (et Rivcmsefis Raw
= | YIGT SASIRCGIRA |

(i) No :
- 6. Write a short note on Trademark. )

Jififéne fowg Raw b o3 Gret v
2. What is venture capital ? 2 or/ 5%t
WG T4 AW o

If you have to start a new venture with a

3. Write two purposes of business incubators. capital requirement of Rs. 5,00,000, which

2 source of funding will you prefer and why ?
[P TSl AN 757 Sy ol | Explain. 5
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5 I BRI SIRNFOIEE B B! g P afed
oS RoRE | @2 (FaS T FRARE (PR TR
sql SR CFae Sy fral o Rewe i

4|

What are the major business traits that a
start-up owner must have to be successful ?
Discuss. 10

qEF AT WES[ TGR RA T & T a9
RIS edied ABICE! AT 2 ST I |
Or / g3t

" Discuss the various stages of identification
of business opportunities. 10

PRSI arewtay Rfea ofiwmg Sl
co

Explain the benefits of Franchisor and
Franchisee. 10

SRR MR i SR dfSPRT Sk R
gt 4 |

Or /] <<t

Explain the stages of venture capital proceslsd

e T efdrar Rien sz o 41
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Define market research. Explain the needs
and methods of market research. 10

TG SRR IR T3 | I SIEIAR ATEATO!
iF AGOERT G [ |

Or /| g3/
What is Patent ? What are the requiréments
and procedures for filing a patent ? 10
Fg I WA &2 2 AR M 7Rt SR T
TR AL SF IREYARTIER 2
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- OPTION-C
| Paper : COM-SE-3034
( Computer Application in Business)
Full Marks : 50
Time : Two hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
1. Choose the correct answer of the following :
1x4=4
weTo AR [l wg Teah! A Shisat 2

(a) The shortcut key to open a document
is

< TFETS YfRtsT RS 5, B BA
- |

(A) Ctrl+N
(B) Ctrl+0
(C) Ctrl+S
(D) Ctrl+X
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(b) The cell address of 2nd Row and 3rd
Column in MS Excel is

MS Excel © {37 MI<{| WF 9T WS (T A0GR06!
EG| |

(4) B3
(B) 3B
(C) C2
(D) 2C

(c) E-R Diagram stands for .
E-R Diagram-3 =9 Fitol T |
(A) Entity Relationship Diagram
(B) Equity Relationship Diagram
(C) Entity Relational Diagram
(D) Equity Rational Diagram
(d) Which of the following is a Word
Processor ?
SR (IOl Word Processor T ?
(A) MS Excel
(B)] MS PowerPoint
(C) MS Access
(D) MS Word
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2. Answer the following questions : 2x3=6
were fAal erRs Tel ful 8
(a) Mention the usage of Header/Footer.

Header/Footer-J IRIY] GEd 4 |

() What is DBMS ? Mention a name of
DBMS software.

DBMS f%? @5l DBMS TR6ER 1N S
401

(c) How do you edit data in MS Excel ?
MS Excel-$ U5l (T edit FRA1?

3. Answer the following questions : (any two)
S5Sx2=10

were Al PR et fiat ¢ (Rriz gbr)
(a) What is Page Setup ? Discuss different
options in page setup.
cofer (=B [ 2 (o (=Gl RiSw R
TR
(b) Briefly discuss the business
~applications of MS Excel.
MS Excel-3 M ARSI 5303 St
4 . o
(¢ What is presentation ? Briefly discuss

about Transitions and Animations in
MS PowerPoint.
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@)

(TSN 2 MS PowerPoint-$ )
Transitiqns 9i¥ Animations A
BT SNG4 |

What is Mail Merge ? Mention the steps
of Mail Merge.

CNZE e 2 (iEE ierq g S 41|

4. (a) What is Word Processing ? Discuss the
features of word processing. 2+8=10
G 2R 62 A6 eirelRzs AR Sl
Sl

or / izt
(b) Discuss the usage of the following in
MS Word : 10
MS Word-% w&Te iz IR st
418
(i) Bullets and Numbering
(ii) Autocorrect
(iii) Templates
(iv) Alignment.

5. (a) - What is Spreadsheet ? Briefly discuss
the advantages of spreadsheets over
word processing. 3+7=10
CeeiRb e A6 oI TR ceefRie
FRAPTIZ ST SCEAH B |
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Or | W3t

(b) Briefly discuss the usage of the
following functions in MS Excel: 10
MS Excel- %6 3l IR I32F 40
SITEToA A 8
iy SUM
(ii) AVERAGE
(i) MAX
(iv) MIN

6. (@) What is database?. Mention the
- advantages of databases. Discuss ER
model. 2+4+4=10
BT &2 SR JRAITR Smd 7411
ER model S0l F11 |

Or [ 734

(b) What is SQL? Discuss the SQL
statements for the following : 10
SQL e v TS SQL statement
)G T e |
(i) Insert
(ii) Delete
(iii) Update
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